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TEFQEMAKEEE = (kN/m3) cos ¢ _ — - -
ITEEOREEER o= &) =7 25ind tan @ F1max W2max
HBEYREBDES L= (m)
TE X Fi W2 H4 5 X F1 W2 H4 i x Fi W2 T
(m | (KN/m2)  (KN/m2)  (m) L m  (KN/m2)  (KN/m2) | (m) 1 m | (KN/m2) | (KN/m2)  (m) &
0.0 20.5 41.0
@ BEI=LBH(F1) 0.5 21.0 415
5 1.0 215 42.0
_ _ cos 2 15 22.0 42.5
Fi=7 (L—x)( Jsng ) tand 20 225 430
5 25 23.0 435
e _ cos 3.0 235 44.0
2L F1=27 (=g ) tan ¢ 35 240 445
Eﬁim\%wtté 40 245 45.0
45 25.0 455
FI @ BEICESANRENIERLIE, 5305 A EBLE 5.0 25.5 46.0
BOREYIIERATIEBESNEHDAEE (KN/m) 5.5 26.0 46.5
6.0 47.0
x : HBYIT OV FiHh D YHREMETOMBYSRIZET 6.5 475
2K EE#fE(m) 70 480
75 ELIMVEEDR 1 () 48.5
© EEDREMDT H (W2) 80 EZELLVEEDBSETNDOH S L EF (FHEL 435
8.5 49.5
Wo= 106.0 9.0 50.0
H4(8.4 - H4) 9.5 50.5
10.0 51.0
W2 EEOREMON I (N/m?) 10.5 31.0 51.5
HA : HBYHIRODBYIZ > TEL T REOBEIZLY A 11.0 315 52.0
ﬁaa)iiﬁ%l ERT 5D ELREDEE(M) 115 32.0 525
12.0 325 53.0
125 33.0 53.5
H4= (L-x)tano 13.0 335 54.0
135 34.0 54.5
=L HA=2tan 0 FBZEL\EDET S 14.0 345 55.0
14.5 35.0 55.5
15.0 35.5 56.0
15.5 36.0 56.5
@ BELWVEEDEZTNhOHLLHDRXIE 16.0 36.5 57.0
16.5 37.0 57.5
F1 > W2 tibtihXiE 17.0 375 58.0
175 38.0 58.5
L. HBYREO TiHADBY AR~ KFEEET] 180 38.5 59.0
B R60mDEHE 185 39.0 59.5
19.0 39.5 60.0
19.5 40.0
20.0 405
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